wrHf aflserrggmrer / MODEL QUESTION PAPER - 2019-20
Guevpleney @)revsri_mip yevr(® / XII STANDARD
afleusiglie) / ZOOLOGY
S wHmID gy mifley suyfl / TAMIL & ENGLISH VERSION

@myib : 15 BiflL_miser + 2.30 woswf) Qorg s wHIG LTSS | 70
Time Allowed: 15 minutes + 2.30 Hours Maximum Marks: 70
Plejmrsdr 1) gwarssy almrssenn slursl  ugard o starsT STEITLIENG

sfluriggs Gararsmap. géatiugalsy Gonulpilfsr oeons
seTsTaniiiurarili_b 2t arguwirs g fallEseayib.

2) fwd g sGOy  sulmer  wWLEGL  sTpsISHED
313 5CH Ty (Hleugm @i et BSS Gaues(Bib. LIt_BIgs6iT
suemrausNHGL Glusitdley LGTUGRSSa LD

Instructions - 1) Check the question paper for fairness of printing. If there is

any lack of fairness, inform the hall supervisor immediately.

2) Only blue or black ink must be used to write and underline.
Pencil can be used to draw the diagrams.

ug# —1/Part - |

eolly: ()  marsz alarrssenseh alaLweflsseayib. 15 x1=15

(i) Qar@ssiui prearg aloLsafls Wsayb anyamw allamL_uflevers

Caips®55 GOTLBLsir allsn_uflewaruyb Gaiés) eTapsayib.

Note: (i) Answer all the questions. 15 x1=15

1.

(i) Choose the most suitable answer from the given four
alternatives and write the option code with the corresponding
answer.

ue 2 L &phEsemens Glares. QupGpnmi o ulflullear o 1 sm&ssT Nfhg L

2 L s(hesmens Gesraw, Gl o ulflsemer o maursgsse) NermrevGurGLmid
SGL. @bepenm sTasTLREDSI.

) BTEHIY.ISHT 9,) spuredlesrr

@) sLparopd ) 9 TaACurensl Baer

Plasmotomy is the' division of multinucleated parent into many

multinucleate daughter cell with the division of nuclei. This is common
in

a) Noctiluca b) Opélina
c) Sea anemones d) Archaeocytes

2. sWEUITLOTY L Sener 2 (heuTdE g
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) @rewLmid Blewe aflbg GFe 91) P36V Blewev aflbg GFe

@) ewCuiw GLr@sresflwid ) aflbgl ClFes 6T
Spermatids are produce from

a) Secondary spermatocyte b) Primary spermatocyte
c) Spermatogonium d) Spermatocytes

. Brbgl/CoslissTensnt o HaursEd Chriis STyesnf e1g)?

) BewGewflwr GsrGarTfGu <) pfGumreflior LredlL_ib

@) Qapniusv AbliGsev ) 14y CasTGorarTav sureflerrsedlsiv
Which microbes cause syphilis ?

a) Neisseria gonorrhoeae b) Treponema pollidium

c) Herpes simplex d) Trichomonas vaginalis

Qe QunGprisefllsr @rss eauemswyd AB-wrs @ BEGL  Cureps
shaFlaefler B)T5s alems sTeaiamswTs: @) HdHd (Lpiguid?

<) AB @b <) A,B wpmno AB

@) A,B, AB wpmip O 7) A wpmid B ol @i

What can be the blood group of offspring when both parents have AB
blood group?

a) AB only v b} A, B and AB
c) A, B, ABand O d) A and B only
5. was 1He0led QuUIrHeT HLsnrBlwiiul L Gsrimesr
<) AAA 1) GGG
@) UUU ) TTT
The first codon to be deciphered was
a) AAA b) GGG
c) UUU d) TTT

8. wefly Gersglar ufawmwgCGsrhm Bawsaflsr £PCHreE suflewsuTeaTg)

1)

24)
3)

)

WL rCeurLigglesen » rrwrilgglaen > CanrGurGsuiwesran -  CanrGur
anriiledlerv
CanrGurstréL_siv - GanrGuranmiieflev— Canr@urGsiiiwsitav
crrrwn'ﬂgﬁﬁdvﬂ@@rr@wn'gmmﬁaﬂm - GanrGumerréev - GCanrGomr
Celilwesrsiv
eV rGeuriggassv » prorilsdlssv - CaprGur sréLev - GanrGuor
anriileflev-> CanrGor Galiflwsiten

The most accepted line of descent in human evolution is

a)
b)

Australopithecus — Ramapithecus — Homo sapiens — Homohabilis
Homo erectus — Homo habilis —» Homo sapiens
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c) Ramapithecus — Homo habilis — Homo erectus — Homo sapiens
d) Australopithecus —»Ramapithecus —Homo erectus —Homohabilis —

10.

Homo sapiens.

arriilevev QaTaallear aurpsamas spndlufler sflwrer auflenswerp 61517

o) eaxfleivl_ G ewenaGlar B > svGurGrm Gerulll. G~ CaULCLrensl ()
o) ewensGlart ( > sadlevl G > Caufl_GLrswal ® > ewCurGrr Cemull @
@) Caull_CLramsl B > sardflavi B S swCurGrr Carulll_® > esenas6ler ()
) Gai_GLrensl_{ > emensGler’ B > eadlavr () > awGurGrr Grruil®
Which one is right sequence for lifecycle of Anopheles mosquito ?

a) Oocyst > ookinete - sporozoites > gamatocyte
b) Ookinete -> oocyst > gametocyte > sporozoites
c¢) Gamatocyte - oocyst > sporozoites - ookinete
d) Gamatocyte - ookinete > oocyst 2> sporozoites

Lipssramuappier g CusCrreiGugr ojba?

3y) CurGarrens_(h 9, wwsGrraleflur
@) elcsui GlFe 7) eioGuren s
Which of the following is not a macrophage?

a) Monocyte b) Microglia

c) Kupffer cell ' d) Lymphocyte

srHpHn &6 Qefiiureiledy o Husd GFlwiLEL aTHSESETTETS]
o) 158G 60T, o &EFlggeT HYID AN T FmLI®.

o) want_reeT FRmU®D), BHGH6T DI FOUT ML HEDFH
@) swan’_rger s@u®), eBLIReT wHnib B5CH6T.

) 155856, mapL rmer smu® LODID STTLGT L YEDF0.
The gases produced in anaerobic sludge digesters are

a) Methane, oxygen and hydrogen sulphide.

b) Hydrogen sulphide, methane and sulphur dioxide.

c) Hydrogen sulphide, nitrogen and methane.
d) Methane, hydrogen sulphide and COaz.

LipsasTamib THhs Hiewremiuif] CgrfihsTeaserflsd A As gbflev 2 HLSSISEGL
LwesTUB ETD S ?

o)) wraGLrGudlisve ussTiflesean o) Querdledund HHmlesrid

®) eI Edleveven eBERT ) nrGamLen B if%eTen

Which one of the microorganism is used for production of citric acid in
industries?

a) Lactobacillus bulgaricus b} Penicillium citrinum
c) Aspergillus niger d) Rhizopus nigricans
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11.

12.

13.

14.

sOUILAulled wpup Crrysd o ulifsg rpmrs Corwss o ullfluflsr Lg#ser
LwSTURSS LG UG @)siuTn) SewdsILEID.

9) sImanTw G wnGrisms SO Faseir

) UPISGODSSILL L onCeisms EIQNIREE T

B) q.steir.61 LA 6T

/) supdmiomer $HUL g6,

Vaccines that use components of a pathogenic organism rather than
the whole organism are called

a) Subunit recombinant vaccines

b) Attenuated recombinant vaccines

c) DNA vaccines
d) conventional vaccines.

205 OGL urinfs surpp 2 _ullfesriiseflerr stevreniidens

) Blowdam L g5 ) Blerdan L eueridd
B) spas Hpm&E 1 ) B)6ordan L1 Lyeus)
The number of individuals per unit area is known as

a) population density i b) population growth

) community ecology d) population dispersion

e ullfleriisefsr Aa'iyls ud gwemev Cleuelufl_Bsirer ¥lmeuerin

<o) WWF <) IlUCN @) ZSl ) UNEP
The organization which published the red list of species is
a) WWF b) IUCN c} ZSI d) UNEP

CaTHEEULL L gnpHDldE 0 STTTSFNGL  CuTHSSwTaT aflen_ulleners;
Caprh0sH\sa

Fppr Gl warLew  ughsaflw Blvajb  SHOIFGYD  HeTenLos e,
o_ullfleriiselar Applerorsssd LHDID  LDMDSS HETDLWEES, FTSEHLOMTSH

2_§iremenT.

STTEMID. Lheud STeb, HU Gl Blavev, FIOusl woHnid efld sren

STD& GMD W Blene W TSHaLD, 2 _SHhHESTHMLD ©_6T6emeT.

S)) SO WHDID ETFERTLD Brawr® &f wHob &TresTd & mepn  Fllwrs
aflens @ ama,.
) T DM WHDID HTTERTLD Brew®n & SyerTdd STTSRTD Fmpenn Fhwrs

aflerdsailsvsnsy.
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15.

@) Fpmy Ff , YTTEL STTEHTLD SHoUMI-
) & pm) wHmIb Trentd G)rawBGL Seumi.

For the given assertion and reason identity the suitable answer
Assertion: The Environmental conditions of the tropics are favourable
for speciation and diversity of organisms.

Reason: The climate seasons, temperature, humidity and
photoperiod are more or less stable and congenial.

a) Both Assertion and Reason are true and Reason explains
Assertion correctly.
b) Both Assertion and Reason are true but Reason is not the
correct explanation of Assertion.
c) Assertion is true , but Reason is false.
d) Both Assertion and Reason are false.

SUWE HMID UGBS B)ardhdm L 1D enmbgl eHFMS! olsrestley,
S)) e_awrayll LHOTEG®D

<) Caulsmwr@uetisser

@) usFd&ERsTivesafler Hw allsnerayssr

7) fls Gmphs arallCuCuw Bnks allevnigGsst SrewrliuG&#lsTmeT.
The population of eagles and hawks is declining because of,

a) Food scarcity

b) Game lovers

¢) Harmful effects of pesticides

d} Very few dead animals are found in fields

ugal —I1 /[ PART-II

TemaGuign)h m afleTrds Ehds@ allen welldsan. aflarT eraur. 2443,

s LTwwrs el wellssayn. @aGeaurm ellarralh@d 2 wSliGlLssssi

aflenL 30 euriSems5EHsEE sTwe @) hEs CatatT(H b
Answer any six of the following .

Question No.24 is compulsory.

Each question carries 2 marks. Answer in about 30 words.

16.

QeauaflEsmaymse BwL_Gumin 2 ulflarmsaflear 9 $le sTesrentlsansulls
@) FvHsT CarHmialss @B Elermenr. eysir?

Why do gametes produced in large numbers in organisms which exhibit
external fertilisation?

17 . wafllgMev uvalbhgl G &maymBeL sTeualls FBHSLILIGSDSHI.?

How is polyspermy avoided in humans?
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18. aurL_ewag STiiewio sTSTOHTS) 6TeTeT
What is Surrogacy?

19. Gamiu@ssis: urps QrweThpgisrar o ufli i QUIEBL S6r WHYID

GWDHS GCFweTHmeisTer o _ulli Tl QT sL_seir.
Differentiate broad spectrum antibiotics and narrow spectrum
antibiotics.

20. o uili s OGUTEHsT THTUIySHDeT?
What is antibiotic resistances?

21 inpuEGaisenss HEN I IDGHBISET TETDTE STTET? BT OIHEEPETS Fn. DI
What are recombinant vaccines?. Explain the types.

22. susprumiss: Anjeurflullib wHmih o uffletd FrigwLD.
Define Niche and Guilds

23. sTHM WTHUTL 46T WHEW APEOTSTTBISDeTLI g efl(hles.
List out the Sources of air pollution.

24. yswsuiusfiullarre ghu@L allmearasamers o nis.
List out the effects of smog.

U@ — I / PART — III

sTemeuGugyid m eflerTdsEns@ aflewLweflss )b 6x3=18
aflarr arevor. 33 &@ s L Twwors allewLefldsayb

616leurm eflesrrallh@gn 3 wHUGUSISsT

aflenL 45 aurirsengsens@ Warosd B)mss Coaussr@Ib.

Answer any six of the following

Question No.30 is compulsory.
Each question carries 3 marks. Answer in about 45 words.

25. oyamL a4 slyasdr [PCOS] upll e arse Gsfbsupean smis.
What do you know about Poly Cystic Ovary Syndrome [PCOS]J?

26. waiGupenp serefiGurL. af oy CQueTenfln G THM SHSSML WD 6157

B)® o sTrewTRiISaT QHT®H.
Which is the ideal contraceptive for female to delay Pregrancy? Give two
examples
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27. £Qiy Qar@ssuulGsrer uTegSrTGurGsrd Uppsdlser upml aflerd @ s.

<) XXY <) XO
Describe the individuals having following see chromosomal
abnormalities

a) XXY b) XO

28. gurrer gemiotiy upy FDiGHILILY UHT .

Write short notes on Structure of the operon.

29. airipsemsis GuryriLib wHpib Bupews Gsiey Cariur@smen ailers s
Explain Darwinian’s principles of struggle for existence and natural
selection

30. eweursiv GBTiigHsmen 9FH6T HMGH BT CHTET(H NS ILIGSSHI%.

Classify viral diseases based on their symptoms.

31. swsepLaTUy Cpribsst uHmy FNIGDILY aemTs.
Write short notes on Autoimmune diseases.

32. flena Qeutiu Gaugyur @ e_ulfsaflsr FrssmISeT wWrepe?
What are the advantages of Eurytherms?

33. e_ufflw LUdAMSES H6Tew LHDID BT UTEISTULGT CUITSIUTST 2 SFlH6T

uprlé GoIUEBS.
List out the General strategies for biodiversity conservation.

ugdl — IV / PART - IV

ST S S s)ﬂso‘rrré;es@é;@m aflenL_werfl. (5x56=25)

Answer ali the questions.

34. o)L g QFsafsT Gt LG sVEUTL Gr Cgafldav @mhba
Caumu@SADSI. 67657, sTeueuTn sTeTLS T aflaifss.

a) Meiotic division during oogenesis is different from that in
spermatogenesis. Explain how and why?

(ysvevg / or)

<) @pHureld NSTUHDOILGID SHSS®L PODSHT UDDHIE ST aIemrs.
b) Write an essay on various types of birth control methods in India.
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35. &) suenisE® @)rH5s Aauiiugny Amgey Gomit (srflhCsTCrrilerTeavGL rdlsvv
ostfLmredlew) upy) efleudds.
a) Write short notes on Erythroblastosisfoetails.
(oysvevg [ Or)
<) Bl selCurGsrid o_meaurT@gd wenmenw allouflss.
b) Explain the formation of a nucleosome.

36. o)) Lriralar @mailssr Sjeunmler 2 L6 gjemsy, VST auigauld LHDILD
2 _ewreylt LP&ED YHFwaupnld Camiu ® CleusiGaun fHYlerhisemra
ufewnfls s maHstmer. @) eTeng Lrduuadsfng? alarsgs.

a) Darwin’s Finches have evolved into different species differing in body in
body size beak shape and feeding behavior . What does it reflect explain

(jevevgy / or)
o) errervGomgwigbgledt aurpdhensd &ndl unm) stwsis.
b) Explain about life cycle of plasmodium

37. &) SGurensl_Bisst uD) aflers s,
a} Explain about lymphocytes.
(ysvsvgy / or)
<) wrugy WrHniul L afleVkGser auenTwnisseajn. @)eajuilfiaseflsr
LIWSTUITL Ly enesT aflend & s%.
b) Define transgenic animals and explain their uses.

38. ) wrunmtt GUITFed susmsssmer GO B Sjupemn ailersEs.
a) List out and explain the types of extinction.
(op6vevgi / or)
2) SIS Heysenend enswirer LlsTuHDLLBD euflEensr aflouflds.
b) Explain about the ways of Management of nuclear waste.

D> 2|1 ';S\QZ\
\ \W“y ‘

2
S
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